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2022 Fresno 36.337 -120.109 boot TRITICALE UC 3197 3197 6706 1650 0.14 1
2022 Fresno 36.337 -120.109 boot TRITICALE UC 3196 3196 6036 976 0.14 2
2022 Fresno 36.337 -120.109 boot TRITICALE WB PACHECO 3164 5642 1380 0.14 3
2022 Fresno 36.337 -120.109 boot TRITICALE UC BOPAK 3190 5436 622 0.14 4
2022 Fresno 36.337 -120.109 boot TRITICALE APB T470298 3194 4979 1064 0.14 5
2022 Fresno 36.337 -120.109 boot TRITICALE APB T470308 3195 4870 574 0.14 ©6
2022 Fresno 36.337 -120.109 boot TRITICALE UC ATREA 3185 4616 411 0.14 7
2022 Fresno 36.337 -120.109 boot TRITICALE UC 3193 3193 4563 383 0.14 8




